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Let X be the standard normal RV. The dis-
tribution of Y = X? is:

@Gamma
b Uniform

¢ Normal

d none of the above

Formula for standard normal is e*(-0.5x*2). Using change of
variable formula we get f(y)= y*(-0.5)e*(-0.5y), which is the
a variable part of Gamma(0.5, 0.5)
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Suppose you are trying to discretly leave a
party. Your time to leave is uniform from 0
to 2 minutes. However, if your walk to the
exit takes more than 1 minute, you run into
a friend at the door and and must spend the
full 2 minutes to leave. Let T represent the
time it takes you to leave. True ohe
graph of the cdf of T is:
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1. Suppose you are trying to discretely leave a
party. Your time to leave is uniform from 0
to 2 minutes. However, if your walk to the
exit takes more than 1 minute, you run into
a friend at the door and must spend the full
2 minutes to leave. Let T represent the time
it takes you to leave.
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Your expected time to leave, E(T), is:

a 0.5 min
b 0.75 min

@1.25 min

d none of the above
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